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QUESTION 1

When running deduplication on SnapVault destinations, which 3 statements are true?

A. The source (primary) system sends duplicated data even if the source data is deduplicated.

B. Deduplication internally synchronizes with the SnapVault schedule on the destination.

C. The source SnapVault data is deduplicated inline on the target before it is written to disk.

D. Deduplication savings are available after the baseline snapshot rolls off and the blocks are freed.

E. Deduplication with SnapVault creates a snapshot, deduplicates, then deletes and recreates the snapshot to
effectively deduplicate savings.

Correct Answer: ABE

QUESTION 2

A storage administrator creates two volumes, voll located in aggrl and vol2 located in aggr2. Junction paths for both of
them are /voll and /vol2. The administrator performs a "volume move" operation and moved voll from aggrl to aggr2.
Which statement is true?

A. The junction path changed for voll but not vol2.

B. The junction path changed for vol2 but not voll.

C. The junction path changed for both voll and vol2.

D. The junction path does not change for both voll and vol2.

Correct Answer: C

QUESTION 3

Which three are valid commands to be used with LUNS?
A. lun move

B. lun copy

C. lun clone

D. lun offline

E. lun rename

Correct Answer: ACD
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QUESTION 4

There are 16 SAS disks available for creating the aggregate; you use 14 disks to create a RAID DP aggregate. The
RAID group size is 8 disks in a raid group.

Which statement is TRUE?

A. You create 1 raid group of 16 disks.

B. You create 2 raid groups of 6 disks each.

C. You create 2 RAID groups one containing 8 disks and other containing 6 disks.
D. You create 1 raid group of 12 disks.

Correct Answer: B

QUESTION 5

Physical Reallocation of a SnapMirror source volume increases the amount of data to transfer for the next SnapMirror
update.

A. True
B. False

Correct Answer: B
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